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LEVEL G



Let the base be

Area = E, x6xb = 3 b = x

:
- b=

Hypotenuse=(

-Perimeter = 6 + 62+( = x

Using GDC either numerical solve or

graphing : x= 24
: Hypotenuse = 6 +64=
Base = =m

-

-



Let the height be h
Area = [hx4 = x

h = /2

Hypotenuse=(E)
Perimeter = 4++ =2

Using GDC : x = G

. Height = 3 cm-n
-

=: Hypotenuse=35 am
-

-



Let the base be

Area = Ex8 x b =Ex
b = Ex
#

Hypotenuse
Perimeter = 8 +382 + (3) = 2x

Using GDC x = 20

Hypotenuse = (3) = Im
-

Base
3x20 = 15 cm= -
4 -
-



Let the height be hand the basebe
28 -nPythagoras : 4 + b = 202 Eb=

Perimeter : h + b + 20 =C

↳ +Th +20 = -①

Area : thb = 2x

Enth = 2x -

substituting value for fromD into

24+ + 40 =Ehr202 -22

Using GBC Height = h = 12cm, Base = Hom-- --°
-



Let the height be hand the basebe
-iPythagoras : 42 + b 2 = 342 => b=4

Perimeter : h + b + 34 =C

n + 142 + 34 = x -①

Area : thb = 3x

in4- 42 =3x -

substituting value for fromD into

3h +32 + 102 = Eh 22

Using GBC Height = h = 16 um, Base = 30 um-- --°
- -



Let the height be hand the basebe

Pythagoras : 4 + b2 = 822 b=N

Perimeter : h + b + 82 =C

n +
2
+ 82 = x -①

Area : thb = 4x

En-2 =4x - ⑳

substituting value for fromD into

th +4 + 328 =En

Using GBC Height = h = 18cm, Base = 80 m
-- --°
- -






